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| Semester 3 Year LL.B. Examination, January/February 2025 (Odd Sem.)

Duration : 3 Hours
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Crl—1: BHARATIYA NYAYA SANHITHA - 2023 - 24

questions.

Instructions : 1. Answer Q. No. 9 and any five of the remaining

2. Q.No.9carries 20 marks and theremaining questions

carry 16 marks each.

3. Answers should be written either in English or

Kannada completely.

. Define crime. Explain difference between crime and tort.

SBOVFRR), TS0, D0, TG BBy BTYINRG SRS A0
.3, ATR, DHORO.

. Explain various types of punishments to which offenders are

liable under Bharatiya Nyaya Sanhita, 2023 (BNS).
080D T,00 Tk, 2023 T ©RDY, ©ITENENR
QEBUTOTT AN B,To0T SFNETY DWOAR.

. Explain the law relating to abetment under Bharatiya Nyaya

Sanhita, 2023.
Do NevSiRapNere R0&3, 2023 T 2T mﬁ@ed%ﬁ TOWOAT
TOTRT), DBORD.

. What is culpable homicide ? Explain the circumstances under

which culpable homicide amounts to murder.
BTWOIRT STHI, QOTTER ? L9TTRT 565@% CRR FOTIFNSE
BRSINMITE DOLOTTY, 0A.

. What is Hurt ? Explain the circumstances under which hurt

becomes grievous hurt.
O OTTEDD ? 03IE FOTLIFNTE), P03 &€33, MO3ITINIZT ?
NN,

. Explain the essential factors of Criminal Trespass, House

Trespass and House breaking.
OTOIRT WEFW, NTIEEROD B I TF TITIN
BVTT WTY,HTT WOBNTTY B0A.
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Q. No. 7.

Q. No. 8.

Q. No. 9.

In all Robbery there is either Theft or Extortion. Explain. Marks : 16
Q@Y. RORON ITOHENSE). FHOY) BYIe wem;_\) BED AT BTOTT.
QWO

Write short notes on any two of the following. Marks : 2x8=16
FINTINGY, CI)TTTR ad@éﬂ_ VT 3T WTC0.
(a) Dowry Death
wddz"y@" o)
(b) Defamation
BRITR

(c) Mens rea.
OTOIRT TR,

Solve any two of the following problems. Marks : 2x10=20
FINIRYNTY, C3FTOTTR NT@ T, FTLNTTY, WRDOR.
(a) ‘A’ a surgeon in good faith communicates to a patient that

he cannot live, the patient dies in consequences of shock.
What is the liability of ‘A’ ? Decide. Marks : 10

‘AT Q0w TRWEBFID W), BreNt Ve WTOFWRT 02
RO 0353 m‘@)ﬁﬁo&)od 39BN, & RROD BFBROW
grencdy @00 BRoTITS. A, ‘A’ 3 g 3oded ?
QEIEOWNX.

(b) ‘A’ voluntarily throws into a river a ring belonging to ‘Z’, with

an intention of thereby causing wrongful loss to ‘Z’. What
offence committed by ‘A’ ? Marks : 10

A’ B03008,e08ON Z' 1 SHEI0830 TRTWT HVTeSR0T
Z' R Re0n wuordTESY IOn HFodoTS. A’ ado ciREs
STOIFT), TRATOTS ?

(c) ‘A’ builds a wall across a path along which ‘B’ passes, B

is thereby prevented from passing. What is the offence
committed by ‘A’ ? Marks : 10

‘D 000 ‘W LErEdm oon @%@aﬁ riraec@ofosqi 5&\25 ‘o
WEBT TR BECWTSE. ‘@’ 030 03w @wmz;;s%
maaw%ﬁ ?




